‘MAT 161 Test3 Name %{/L.
201Spring 2012 ‘ , >0
Instructions: To receive credit for all answers, show all work clearly in the space provided.

{ 1. Fmd the dimensions of a steel cyhnder with an exterior surface of 1000 sq. ft; open-top, that has
¥

maximum volume.
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2. .Given a demand function of p(x) = (2+x)e thousand dollars detg-rrmne the productlon level x that will

g maximize revenue. 1),
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B sin(2x)—2x ,KAL uﬁit)_,;(\v_ -2 “1_

3. Calculaté lin% e 3 i
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4. Find f0x) if£"() =x + cos(x) , £ (B df(og. |
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5. Use an initial guess of 1 and Newton’s Method once to estimate the solutlon to x*- 3x- 3=0.
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6 For f(x)—x 290x

a. - . Calculate the first and second denva'ave of f(x)
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b. Find the intervals where f{x) is increasing and decreasing.
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c. Fmd the intervals where f{x) is concave up and concave down.
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, <imum, local minimum, and 1nﬂect10n points.
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e. Find the x- and y-intercepts of y = f{x).
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f  Sketchthe graph of y = /).
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